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[REEIH 336 -2 156 0 180 -2 209 0
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HRFET =T H 305 -1 146 1 159 -2 134 1




PRI =TH 504 -7 243 -3 261 -4 234 -1
FRAFETIL T B 407 4 175 -2 232 6 168 -1
FRETRT B 567 1 249 -2 318 3 211 2
¥FrEE—TH 225 -2 113 -2 112 0 104 -2
FUEEI”TH 335 -8 186 -2 149 -6 168 -2
HIIEEE—TH 468 1 211 0 257 1 225 0
AIEEE —TH 330 -1 159 0 171 -1 131 0
BEE—TH 130 4 61 2 69 2 65 1
ERE"TH 647 -3 289 -2 358 -1 284 -1
BRE=TH 584 -7 279 -5 305 -2 232 -2
IEREEUT B 234 -1 107 -1 127 0 103 1
EEEATH 725 0 332 4 393 -4 344 1
Kt —TH 280 2 135 2 145 0 108 0
XKimBl —TH 228 0 113 0 115 0 87 0
RFH—TH 142 4 70 3 72 1 61 1
RFHZTH 7 0 4 0 3 0 4 0
RFH=TH 212 0 114 1 98 -1 91 1
TEEIA—TH 627 5 298 4 329 1 224 1
TERETFE T H 314 -2 143 -1 171 -1 113 -1
TEEA=TH 234 1 122 1 112 0 85 2
TaEIFEMT B 498 1 239 -1 259 2 184 0
TEEAATH 669 -1 321 4 348 -5 252 1
TaE]FENT B 407 -12 184 -5 223 -7 170 -1
TEEAETH 618 -5 303 -3 315 -2 277 -4
T8I\ TH 669 1 315 3 354 -2 280 7
TERER—TH 1,397 15 672 5 725 10 587 2
THREERTTH 369 -13 185 -8 184 -5 151 -6
TERER=TH 669 1 334 0 335 1 274 1
TARETRMT B 1,089 0 523 -1 566 1 437 8
THREERATH 1,197 15 731 20 466 -5 690 19
TERETERANTH 632 -8 334 -5 298 -3 331 -4
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